Lesson 1.1 Average Rate of Change and Equations of a line

Unit 1- Functions and their Graphs Lesson 1.1
Objective: SWBAT find the average rate of change and
write linear functions including parallel and normal lines.

Kickoff

What do you remember about linear functions? List as
much as possible!
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Ex6: Change the following into general form.

1*2 2
y+il=g5(x-2)

+lt2p-

YRk
Mg x /4
28
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Ex7: Find the slope intercept form of a line that passes
through the point (2, -1) and is parallel to 2x - 3y = 5
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Normal Lines- PC(D‘MHCV“U W) o Sum it up.
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